
I would be happy for it to appear on the Web 
  
You might add the following example - individuals 
  
$100,000 invested at 6% 
Interest Earned              6000 
LessTax 45%                2700 
Net
Less Inflation 3.5%         

                               3300 

  
3500 

Net Loss                      
  

   200 

Trade Unions cannot be restrained. The solution may be to issue the C.P.I. inflation rate as a recognised tax 
deduction for interest earned (daily C.P.I. deducted from daily interest earned -  apply to interest over $1000 
P.A) 
  
Regards 
Bob 
 


